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KOIleeK rpmma THHHHK
rojx OyKBBI OyKBBI o THIT OyKBBI o THIT OyKBEI
1725 55/400 * 1726 CIIB | 1,21/3,51 * | 1725 | "Tpaypusiii" py6ns 101/23T *
INoptpert BreBO
1726 | M1 50/350 * | CIIb | 2,71/5,81 * 1,31/3,70 * | 1725 | Mockoscxmii to. 1,31/3,11 *
HII 30/250 * 1726 cmB | svi7rx | 1726 Toprper Bieso 1,21/2,81 *
117271 M1 85/650 * | CIIb R/R 2r/6r* | 1725 CIIB | 1,21/2,81 *
] IMoprper BrpaBo .
= HJ{ 30/250 * 1727 CIIb | 1,51/4,51 * HerepGyprexuit | ¢y | 1,351/3,21 *
= Tu. [Toprper
5 KJT 30/250 * 1,51/4,51 BIICBO 1,31/3,11 *
=
§ 1726 CIIB | 1,351/3,21 *
= 1726 MOCKOBCKHH THII. 1,71/4,61
1727 IMoprper BripaBo 1,31/3 41 *
1726 Herepbyprexuii | crp 2,41/6,71 *
Tun. [Toprper
1727 BNIPaBO CIIB | 1,81/5,1T *
1727 1727 1,61/5 750/2,41 *
Hajmice paszienena T T
1728 70/500 * 1728 TOpTpETOM. 1,61/5t1 * 900/2,91 *
MOoOCKOBCKHIi THIT
1729 230/900 * | 30/250 * 1729 21/6,51 1,31/3,91
= 1727 | Hanmncs pasnenena | CIIB | 1,81/5,51 * 1,51/4,6T
HOprCTOM.
E" [erepGyprekuii THI 1,71/5,1t *
%]
R/IR
E 1727 Hannuce He 4
1728 paszeneHa 800/2,61 *
MopTPETOM
1729 PP 1,21/3,71 *
C opaeHckoi
900/2,91 *
1729 JICHTOI 00/2,51
1730 | Mz 40/250 * 1731 650/1,4r | 1730 Tt 1730 750/2,41 *
5011 r.
MM 1,21/8r 1732 500/1,1r* | 1731 750/2,41 *
M 450/1,5t 1733 500/1,05t *§ 1731 350/800 *
- * KOpOHa pasjaenser *
6/60 3/30 1734 s ol 21/4,51 | 1732 350/780
—= Tum 1732 1.
1731 2/20* | 1/10* 700/1,87 1734 K 550/1,41 * 1 1733 350/840 *
o8 3
1732 570/1,51 1735 £z & 550141 * | 1734 1.21/3,11 *
Ex 5
1733 420/11 1736 §§ E 550/1,4r * | 1734 | Moprper 1734 r. 1,21/4,61 *
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2 = 2
1734 2120* | 2/20* 470/1,21 1737 2 E 550/1,4t* | 1734 :E = B | 22v/46r
je-]
1735 1/10* | 1/10 470/1,2¢ 1737 Eg & 850/1,9t §E 3 330/730 *
S 9 52 o
= 1736 15/15 | 1/10 1738 g5 121280 | 1735 £ 5 ) 330/730 *
S 9 5 o =
E| 1737 320% | 110 1739 £33 sootsr |1736] = £ 3 350/780 *
o= © R
=<t 1738 6/60 1/10 1740 =53 11723 | 1737 = 400/830 *
1739 18/70 | 110* L | 1738 2 = cs| 13t | 1736 roprper pacorst RIR
1740 15/120* | 220 4r/11r B éA 000270 | 1737| X Tenmnrepa 21/401
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o 0¥ = —
o= & F ok 2 =) *
1739 EC g CIIB | 900/2,7t * § 1737 g g 600/1,451
1740 = E= cms| 1svsr |1738| EEE 550/1,351 *
5 = 3
1739 £ g 650/1,751 *
=] l:‘ o
1740 =T E 750/1,857 *
1738 2 E CIIB | 500/1,051
Qo «® X
O = ﬁ
g2 s~ 650/1,351 *
558 E
1739| &%= & ° | cImB [ 550/1,157 *
e B
=}
1740 = E CIIb | 5501157 *
1741 15/120 | 2/20 CIIb 121/187 * 81/151 *
MMJ| 2,31/5,71 * 151/23t1 * 121/261 *




